OFFICE OF THE EXECUTIVE ENGINEER JAL SHAKTI (PHE) DEPARTMENT, DIVISION

Alleter	t Order No: PHO/CC/ JS 6 of 2022-23 Da	ited	101	03/2023			
Hotmen	o:PHQ/ 7010-12			100	3/2023		
No:PHQ/	4010-12						
Name : M	Ms Ab. Gaffar Bhat R/o Hiller Arhama	ell No. 600	241552	W	-7-12-1-1		
email:abg	affarbhat46@gmail.com	ell No. 600	0947010	100000025	JK Bank		
REGD. NO	D:33-DEE/SE/HYD/ANG/2008-09	tiller					
GSTN: 01	AGTPB1918K1ZJ	PAN: AGTPI	31918K		CD		
Name of S	AGTPB1918K1ZJ Schemes: Laying and Fitting of pipes including P/F	of pipe spe	cials and	d bed treatm	ent of SK		
WSS Liss	er Chawalgam (Under JJM)						
Adminstra	ative Approval No. 355/DB of 2023 Dated: 15/02/202	3					
Tochnical	Senation No. BUEO/DB/ LIM/137 of 03/2023 Dated:	08/03/2023					
		Rupees: 50	even Lac	s Twelve Th	ousand		
Alloted Co	ost Rs: 7,12,452/-	Four Hundr	ed Fifty	Two Only			
	Completion Time			Days			
Poforon	(1) 5 the Engineer to Shakti (PHF) Divis	on Qazigur	d for E-	NIT No.17 of	f 2022-23		
- 0	to be 14 of 14 Courses of 18 K contract for abo	ove noted w	OLV 19 III	are by made	with you		
on vour a	uoted percentage rates, terms & conditions and a	e reproduc	cu neres				
SI. No.	Description of Work / Item(s)	Qty	Unit	Rate	Amount		
31. 140.	Earth work in excavation by manual means in						
	trenches for foundations, drains, pipes, cables			1			
	etc. (not exceeding 1.5 m in width) and for		- 1	1			
1	shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing			1			
	of sides and ramming of bottoms lift upto 1.5 m,						
	including getting out excavated earth and						
	disposal of surplus excavated earth as directed:						
			C	436.000	122952.00		
1.01	All kinds of soil	282.000	Cum	841.600	59400.13		
1.02	Ordinary Rock	70.580	Cum	841.600	33400.13		
	Laying and fitting of G.I. pipes (all classes)				2002200-2		
2	complete,including excluding cost of pipe				0.00		
•	fittings and excluding cost of pipes and earth						
	works	200.000	884-	73.050	14610.00		
2.01	65 mm dia GI Pipe	200.000	Mtr	40.800	20400.00		
2.02	50 mm dia GI Pipe	500.000	Mtr		28560.00		
2.03	40 mm dia GI Pipe	700.000	Mtr	40.800	15325.00		
2.04	25 mm dia GI Pipe	500.000	Mtr	30.650 20.250	6075.00		
2.05	20 mm dia GI Pipe	300.000	Mtr		14175.0		
2.06	15 mm dia GI Pipe	700.000	Mtr	20.250	14175.0		
	Engagement of labour for cleareance of silt		1	1			
	from intake chamber and disposing off silt	51.000	No's	503.000	25653.0		
3	outside the premisses of the intake chamber.		1	1			
3	TOURNUE HIE DICHMASES OF THE INTAKE CHANGE.		-		-		
3							
3	Dismentlling of old CGI roofing and timber trus	s					
3		s			0.00		
3	Dismentlling of old CGI roofing and timber trus	s			0.00		
3 4 1111/	Dismentlling of old CGI roofing and timber trus of intake chamber including disposing off	s			733.00		

4.0	2 Labour	2.000	No's	503.000	1000.00
5	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level(1:1%:3 (1 cement : 1% coarse sand : 3 graded stone aggregate 20 mm nominal size)	18 900	Cum	7800.760	147434.36
6	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level	576.000	Кg	91.138	52495.49
7	Providing and mixing water proofing material in cement concrete work in doses by weight of cement as per manufacturer's specification. (1 kg of water proofing material in 50 kg of cement)	95.160	kg	57.900	5509.76
8	12mm Cement plaster finished with a floating coat of neat cement of mix: 1:3 (1 cement: 3 fine sand)	250.650	Sqm	378.125	94777.03
9	Steel work welded in built up sections/ framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required.In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	210.000	Кд	120.4450	25293.45
10	Providing and fixing of Eves boarding including painting complete .	4.000	Mtr	1500.000	6000.00
Painting with synthetic enamal paint of approved brand and manufacture of required colour to given and even shade two are more coats on new work including priming coat of approved brand and manufacture.		96.300	Sqm	181.450	17473.64
12	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.	317.250	Cum	198.700	63037.58
	Carriage of different marterials from different source to dumping site by mechanical transport				0.00
.01	Cement & Steel Avg. lead 15 KM	7 720			
.02	Sand Avg. lead 40 KM	7.730	MT	303.474	2345.85
.03	20mm Aggregate 15 KM	8.360 10.710	Cum	413.632	3457.96
14	Carriage of pipe material from divisional store up to actual site of work Avg lead 15 Km including loading, unloading and stacking complete.	10.710	Cum	341.573	0.00

Jai Shaki PHE D Scanned with CamScanner I. I. I FI FI BI FI

12	No mobilization advance shall be paid.			
13	The Agency shall be responsible for the time and proper setting out of all the works and for the correctness of the positions, levels, dimensions and alignment of all parts of the works and for the			
14	The Agency shall make his own arrangements for the engagements for the engagement for the engage			
15	The Agency shall at his own cost make arrangements for proper storage, especially towards remained and Snow damages of the equipment/ materials at sites till its erection/completion. For the and Snow damages of the equipment/ materials at sites till its erection/completion. For the and Snow damages of the equipment/ materials at sites till its erection/completion. For the and Snow damages of the equipment/ materials at sites till its erection/completion. For the and Snow damages of the equipment/ materials at sites till its erection/completion. For the and Snow damages of the equipment/ materials at sites till its erection/completion. For the and Snow damages of the equipment/ materials at sites till its erection/completion. For the and Snow damages of the equipment/ materials at sites till its erection/completion. For the and Snow damages of the equipment/ materials at sites till its erection/completion.			
16	The Agency shall in connection with the work provide and maintain at his own cost all lights, The Agency shall in connection with the work provide and maintain at his own cost all lights, The Agency shall in connection with the work provide and maintain at his own cost all lights,			
17	The Agency shall in advance communicate with inchage store keeper,of Divisional Store for lifting of pipe material etc and shall make adquate measures like availability of transport and labour for of pipe material etc and shall make adquate measures receipt / Challan, if required.			
18	As soon as letter of award is communicated to the first that the competent upon them, the Agency/firm shall also be required to execute an agreement with the competent authority within seven days from the date of issue of letter of award. Failure to execute such an agreement in time shall not however, prevent this contract from being enforced against the firm and the date of delivery of the material/completion of works shall be reckoned from the date of			
19	All other terms and conditions as laid down in the detailed NIT/SBD/ PWD Form No.25 double /GF			
20	Any rules/terms and conditions, if not stipulated in the bidding document, shall be strictly dealt is accordance with the relevant rules/guidelines stipulated in the General Finance Rules (GFR 2017) and Manual for procurement of Works 2019 Government of India.			
opy to t				
1	Chairman District Jal Jevan Mission (DDC) Ananthag / Kuigam Tor International			
2	Superintending Engineer Hydraulic Circle Anantnag for information.			
3	Assistant Executive Engineer Jal Shakti (PHE) Sub-Division Dooru for information & necessary action. He will ensure the completion of work within the stipulated time period and strictly in accordance with approved proposals of JJM, besides the amount of work does not exceed beyo the provision of allotment in any case for which he shall be personally responsible.			

Technical Officer

Executive Engineer C Jal Shakti (PME) Division Qazigund

	7.390	MT	303.646	2243.94
65/50/40/25/20/15 mm dia GI pipe				
Carriage of pipe material from hearest				0.00
Jahour Avg. lead of 500 mtr	7 300	MT	355.695	2628.59
65/50/40/25/20/15 mm dia GI pipe	7.350	-		735245.03
		3.10%	Below	
		0		712452.43
Allated Cost	2-6			
	65/50/40/25/20/15 mm dia GI pipe Carriage of pipe material from nearest dumping site to actual site of work by manual labour Avg. lead of 500 mtr 65/50/40/25/20/15 mm dia GI pipe Grand Total Quoted Percentage rate Alloted Cost	Carriage of pipe material from hearest dumping site to actual site of work by manual labour Avg. lead of 500 mtr 65/50/40/25/20/15 mm dia GI pipe 7.390 Grand Total Quoted Percentage rate	65/50/40/25/20/15 mm dia GI pipe Carriage of pipe material from nearest dumping site to actual site of work by manual labour Avg. lead of 500 mtr 65/50/40/25/20/15 mm dia GI pipe Grand Total Quoted Percentage rate 7.390 MT	Carriage of pipe material from nearest dumping site to actual site of work by manual labour Avg. lead of 500 mtr 65/50/40/25/20/15 mm dia GI pipe Grand Total Quoted Percentage rate Alloted Cost

Rupees: Seven Lacs Twelve Thousand Four Hundred Fifty Two Only

Technical

Executive Engineer Jal Si Jal Shakti (PHE) Icion

	Head Praftsman	Technical Officer	Division Qazigund				
	7	a Conditions	No.				
	U Te	T 42 452 42/2 (Puppes Seven La	cs Twelve Thousand Four				
1	Terms & Conditions The cost of work is restricted to Rs. 7,12,452.43/= (Rupees Seven Lacs Twelve Thousand Four Hundred Fifty Two Only)						
2	Hundred Fifty Two Only) Earnest money deposited by you Vide CDR No.3119023 and 3119052 Dated:14/07/2022 and 16/09/2022 resp. is being retained as security deposit as per the general terms and condition of t						
3	appointed by the Department. The a agencies, the quality of materials us each scheme. The TPIQM's role sha the purpose of monitoring and evalu	shall be subject to check by the third party monitoring agency (TPIQM) Department. The agency shall check the quality of works executed by the ity of materials used for construction and the quality of machinery installed in TPIQM's role shall be that of an assistant to the Employer's Representative for nitoring and evaluating of the performance of the Contract during the Contract					
4	Agency must execute the works as per the requirements/specifications dealers						
5	The rates are including the charges for submission of progress, Geo tagged photographs through the professional person before, during and after construction and progress reports in both hard and soft copies.						
6	and soft copies. The date of start of work shall be reckoned within one week form the date of issue of LOI / Contract Allotment whichever is earlier. No price escalation will be paid for completion of the work within the stipulated time or extended						
7	date of completion due to any reasons whatsoever.						
8	In case of quantity variation OR required as per the direction of the Engineer in charge , the same has to be executed at site and nothing extra will be paid beyond the overall allotted cost.						
9	Retention many / Security deposit sharecovered @ of 10% of bill amount from completion of the work and recommon	om running account bills and si	nineer in charge				
10	Liquidated damages (LD): In the event of allottee failing, declining, declining, higher damages of the contract of the event of any default or failure by the allottee in complying with any of the terms and condition of the contract, the Department shall with or without prejudice to any other remedies available to under any law for the time being enforce in the UT: a) Terminate the contract after 15 days' notice and/or b) Recover the amount of loss caused by damage, failure or default, as may be determined by the department. and/or c) Recover the extra cost, if any, involved in allotting contract to other party and/or d) Impose Liquidated damages on account of delay beyond the schedule completion period to the tune of 0.5% of the delayed portion of contract every week but not exceeding 10% value of the						
11	e)Forfeit the performance security an Adequate precautions be taken for th vogue be strictly adhered to during the	e environment and social protect	ction and all safety practices i				